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PERCENTAGE
What is percentage and its purpose?
• percentage, a relative value indicating hundredth

parts of any quantity. One percent (symbolized
1%) is a hundredth part; thus, 100 percent
represents the entirety and 200 percent specifies
twice the given quantity. percentage. Category:
Science & Tech.

What is the concept of a percentage?

• The term 'per cent' means 'out of a hundred'. In

mathematics, percentages are used like fractions
and decimals, as ways to describe parts of a
whole. When you are using percentages, the
whole is considered to be made up of a hundred
equal parts.

Why is it called percentage?

• Percent is from the Latin adverbial phrase per

centum meaning "by the hundred." The Latin
phrase entered English in the 16th century. Later,
it was abbreviated per cent. with a final period.

Who gave the concept of percentage?

• The term has been attributed to Latin per centum.

The concept of considering values as parts of a

hundred is originally Greek. The symbol for

percent (%) evolved from a symbol abbreviating

the Italian per cento. In some other languages,

the form procent or prosent is used instead.

Percent sign
Main article: Percent sign

%

A percent sign

• The term "percent" is derived from the Latin per

centum, meaning "hundred" or "by the

hundred".The sign for "percent" evolved by

gradual contraction of the Italian term per cento,

meaning "for a hundred". The "per" was often

abbreviated as "p."-eventually disappeared

entirely. The "cento" was contracted to two circles

separated by a horizontal line, from which the

modern "%" symbol is derived.

History
• In Ancient Rome, long before the existence of

the decimal system, computations were often
made in fractions in the multiples of 1/100. For
example, Augustus levied a tax of  1/100 on goods
sold at auction known as centesima rerum
venalium. Computation with these fractions was
equivalent to computing percentages.

• As denominations of money grew in the Middle
Ages, computations with a denominator of 100
became increasingly standard, such that from the
late 15th. century to the early 16th century, it
became common for arithmetic texts to include
such computations. Many of these texts applied
these methods to profit and loss, interest rates,
and the Rule of Three. By the 17th century, it
was standard to quote interest rates in hundredths.

Percentage increase and decrease
See also: Relative change and difference
• Due to inconsistent usage, it is not always clear

from  the context what a percentage is relative
to. When speaking of a "10% rise" or a "10%
fall" in a quantity, the usual interpretation is that
this is relative to the initial value of that quantity.
For example, if an item is initially priced at $200
and the price rises 10% (an increase of $20), the
new price will be $220. Note that this final price
is 110% of the initial price (100% + 10% =
110%).

Some other examples of percent changes:

• An increase of 100% in a quantity means that the
final amount is 200% of the initial amount (100%
of initial + 100% of increase = 200% of initial).
In other words, the quantity has doubled.

• An increase of 800% means the final amount is 9
times the original (100% + 800% = 900% = 9
times as large).

• A decrease of 60% means the final amount is
40% of the original (100% - 60% = 40%).

• A decrease of 100% means the final amount is
zero (100% - 100% = 0%).

In general, a change of x percent in a quantity
results  in a final amount that is 100 + x percent
of the original amount (equivalently, (1 +0.01x)
times the original amount).
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Some Important Fractions

1
50%

2


1 1
33 % 33.33%

3 3
 

1
25%

4


1
20%

5


1 2
16 % 16.67%

6 3
 

1 2
14 %

7 7


1 1
12 %

8 2


1 1
11 %

9 9


1
10%

10


1 1
9 %9.09%

11 11


1 1
8 % 8.33%

12 3
 

1 2
6 % 6.67%

15 3
 

1 1
6 % 6.25%

16 4
 

1
5%

20
 

1
4%

25


1 1
2 % 2.5%

40 2
 

3 1
37 % 37.5%

8 2
 

5 1
83 % 83.33%

8 3
 

4 1
57 %

7 7


5 3
71 %

7 7


1
5.88%

17
 =

15
5 %

17
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1. Concept No 1= x is A % of B.

Example = A earns 10000 Rs. And spend

20% find the expense.

Income = 10,000

Expense = 
20

1000
100

 = 2000 Rs.

2. Concept No 2=A is what percent of B?
Example = Ram earns 2000 and shyam earns
6000 them Ram’s income is what percent of
shyam’s?

2000
100

6000


1
33 %

3


3. Concept No 3= A is x% more/less then B then
B is how much percent less/more than A.
Example = A is 25% more then B then B is
how much% less than A.
Method I

25
100 20%(less)

125
 

Method II

1
25%

4
  

1
20%( )

5
less  

4. Concept 4 = If A is 1/nth greeter/less than B,

then B is  
1

1
th

n   less greater than A.

Example = If A got 20% more than B and B
got 25% less than C than by what percent A
is less than C?

=10% (less)

5. Concept 5 = Percentage Increase/Decrease

Successive Increase/Decrease

Example=The population of a town is 10,000. If
its increase in first and record year respectively
by 20% and 25% respectively. Now the
population of town. +20%=1/5, 25%, ¼

6 5
10000

5 4
 

=500×6×5

=15000 Ans:

Example:

Ram spent 20% of his income. If his income
is increased by  25%. Then he increases his
expenditure by 10%. The Saving will be?

Method1=

Income Exp. Saving

100 20 80

+25% +10%

125 22 103

23 Increase

=
23

100
80


=
115

4

=
3

28 %(Increase)
4

6. Concept 6 = Increase /Decrese in
Numerator /denominator

Example: The Price of rice increases by 20%
by what percentage should reduce the
consurption to spend the same amount

+20%=
61

)
5

1 2
100 16 %

6 3
   (decrese)

Ex=Since petrol price are 20% lower, Gaurav

fills 30% moral petrol, by what percent does his

overall expenditure increase?

-20%, +30%

4 13 52
4%

5 10 50
  



©TheCoreIAS www.thecoreias.com 

4

5. The age of 'B' is 50% greater than the age of

'A'. The age of 'C' is 20% less than the age

of 'B'. By how much percentage the age of

'C' is greater than the age of 'A'.

B dh vk;q A dh vk;q ls 50» vfèkd gSA C dh vk;q
B dh vk;q ls 20» de gS rks C dh vk;q A dh vk;q
ls fdrus vfèkd gS\

(a) 20%

(b) 90%

(c) 85%

(d) 80%

6. The price of tea is increased by 25% a

housewife reduced her consumption of tea

by 25% then what will effect on her

expenditure on Tea.

pk; ds ewY; esa 25» o`f¼ gks tkus ds dkj.k ,d
x`g.kh viuh [kir esa 25» dh deh dj nsrh gSA rks
mlds [kpZ ij D;k izHkko iM+sxk\

(a) remains unaltered

(b) increases by 6.25%

(c) decreases by 6.25%

(d) decreases by 2.25%

7. The length of a rectangle is decreased by

2
16 %

3
 and the breadth is increased by 60%

then effect on its area will be:

,d vk;r dh yEckbZ dks 
2

16 %
3

 ?kVk fn;k tk,

rFkk pkSM+kbZ dks 60» c<+k fn;k tk, rks crkb,
{ks=kiQy ij d;k izHkko iM+sxk\

(a)
1

33 %
3

 decrease

(b)
1

33 %
3

 increase

(c) 33% decrease

(d) 33% increase

LEVEL 1

1. If we express 
3

41 %
17

 a a fraction, then it is

equal to?

;fn ge 
3

41 %
17

 dks fHkUu ds :i esa n'kkZ, rks ;g

fdlds cjkcj gksxk\

(a)
17

7
(b)

7

17

(c)
12

17
(d)

3

17

2. Price of an item increased from 16.50 to Rs.
41.25. Find the percentage increase in price.

,d oLrq dh dher 16-50 #i;s ls c<+dj 41-25
#i;s gks xbZ rks dher esa fdru » o`f¼ gqbZ\
(a) 100%

(b) 150%

(c) 175%

(d) 125%

3. A number increased by 
1

22 %
2

 gives 98 as

result. The number is:

,d la[;k dks 
1

22 %
2

c<+k;k tkrk gS] rks og 98

gks tkrh gS] rks la[;k D;k gS\
(a) 45

(b) 18

(c) 80

(d) 81

4. A number is reduced by 20% and then it is
increased by 80%. What was the net effect?

,d la[;k dks 20» ?kVk;k tkrk gS rFkk fiQj 80»
c<+k;k tkrk gS] rc la[;k esa ifjorZu Kkr djks\
(a) 44% (decrease)

(b) 44% (increase)

(c) 40% (increase)

(d) 40% (decrease)
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8. In a factory the production of toys rise to
25,600 from 19,600 in 2 years. he rate of
growth per annum is.

,d iSQdVªh esa f[kykSus mRiknu 2 Ok"kks± esa 19600 ls
c<+dj 25600 gks tkrk gSA izfr o"kZ òf¼ nj D;k gS\

(a)
1

14 %
7

(b)
2

14 %
3

(c)
1

16 %
3

(d)
2

14 %
7

9. A person started a factory after investing Rs.
1,00,000. At the end of first year he suffered

a loss of 5%, at the end of second year he
got a profit of 10% and if and the end of third

year the person got a profit of 12%. Find his

total profit after 3 year.

,d vkneh 1]00]000 3- fuos'k djds ,d iSQDVªh
dks vkjaHk djrk gSA mls igys o"kZ ds var esa 5» dh
gkfu gksrh gS] nwljs o"kZ ds var esa 10» dk ykHk gksrk
gS rFkk rhljs o"kZ ds var esa 12» dk ykHk gksrk gSA
rc 3 Ok"kZ ckr mldk ykHk Kkr djks\

(a) Rs. 12540

(b) Rs. 17040

(c) Rs. 22040

(d) Rs. 27040

10. A sample of 50 liters of syrup is found to be

adulterated to the extent of 20%, How much

pure syrup should be added to it so as to bring

down the percentage of impurity to 5% ?

50 yhvj flji ds ,d lSaiy esa 20» feykoV gS] rks
fdruk 'kq¼ flji blesa feyk;k tk, fd feykoV dk
Lrj 5» jg tk,A

(a) 155 litres

(b) 150 litres

(c) 150.4 litres

(d) 140 litres

11. Madan's salary is 25% of Ram's salary and
Ram's salary is 40% of Sudin's salary. If the
total salary of all the three for a month is Rs
12000, how much did madan earn that month?

enu dh vk; jke dh vk; dk 25» gS vkSj jke dh
vk; lqnhu dh vk; dk 40» gSA ;fn bu rhuksa
O;fDr;ksa dh ,d ekg dh dqy vk; 12000 #- gks
rks enu dh vk; crk,\
(a) 800 (b) 8000

(c) 600 (d) 850

12. Income of A is 10% less than income of B.
Income of B is 25% more than income of C.

Income of C is 20% less than income of D. If

income of A is 36000 Find income of D.

A dh vk; B dh vk; ls 10» de gSA B dh vk;
C dh vk; ls 25» vfèkd gSA C dh vk; D dh
vk; ls 20» de gSA ;fn A dh vk; 36000 #- gks
rks D dh vk; D;k gksxh\
(a) RS. 36000

(b) Rs. 40000

(c) Rs. 28000

(d) Rs. 45000

13. In a library, 8% of the books are in Hindi,

12% of the remaining are in English and 72%

of the remaining are in french. The remaining

3542 books are in regional languages. What

is the total number of books in the library?

,d iqLrdky; esa 8» fdrkcs fgUnh esa gSA 'ks"k dk
12» fdrkc vaxzsth esa rFkk 'ks"k dk 72» fdrkc
izsaQp esa gSA 'ks"k 3542 fdrkcs {ksf=k; Hkk"kk esa gSaA bl
iqLrdky; esa fdrkcksa dh dqy la[;k crk,¡\
(a) 16525 (b) 15625

(c) 12655 (d) 16625

14. In a village, 42% persons drink tea and 47%

persons drink coffee. And 15% person drink

both. How many person do not drink both.

fdlh xk¡o esa 42» O;fDr pk; rFkk 47» dkiQh ihrs
gSa rFkk 15» nksuksa ihrs gSaA ogk¡ fdrus izfr'kr O;fDr
nksuksa is; ugha ihrs gSa\
(a) 20% (b) 30%

(c) 25% (d) 26%
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15. The ration of number of boys and girls in a

school is 8 : scholarships for their studies,

what is the percentage of students who are

not getting any scholarships?

fdlh fo|ky; esa yM+dksa vkSj yM+fd;ksa dh la[;k
dk vuqikr 8%12 gSA ;fn 50 izfr'kr yM+dksa vkSj
25» yM+fd;ksa dks vè;;u ds fy, Nk=ko`fÙk fey
jgh gS rks  Nk=kòfÙk u ikus okys Nk=kksa dks izfr'kr
fdruk gS\
(a) 65% (b) 66%

(c) 68% (d) 67%

16. In an election there were two candidates. The

winning candidate secured 65% and won the

election by 900 votes. Find the number of

votes casted.

,d pquko esa nks izfrHkkxh FksA thrus okyk izfrHkkxh
65» er izkIr djrk gS rFkk 900 erksa ls fot;h gksrk
gSA rks Mkys x;s erksa dh dqy la[;k D;k Fkh\
(a) 2000 (b) 3000

(c) 2500 (d) 3500

17. What percentage of the whole week does

Salman spend in office If his office hours are

9 am to 5 pm from Monday to Friday?

;fn lyeku ds dk;Zdky dk le; lkseokj ls
'kqØokj] 9 cts lqcg ls 5 cts 'kke rd gS rks og
iwjs lIrkg dk fdruk izfr'kr Hkkx vius dk;kZy; esa
O;rhr djrk gS\
(a) 33.33% (b) 23.81%

(c) 25.86% (d) 42.23%

18. 66% of the total students who appeard for an

examination were successful and 24% of the

total students who appeared got a first class.

If the total number of students who failed was

102, how many students got a first class?

dqy Nk=kksa esa ls 66» tks ,d ijh{kk ds fy, mifLFkr
gq,] liQy gq, vkSj ijh{kk nsus okys dqy Nk=kksa esa ls
24» dks çFke Js.kh çkIr gqbZA ;fn vuqÙkh.kZ fo|kfFkZ;ksa
dh dqy la[;k 102 Fkh] rks fdrus fo|kfFkZ;ksa dks
çFke Js.kh çkIr gqbZ\
(a) 86 (b) 72

(c) 66 (d) 54

19. The price of a pen drops by 40%. Hence,
Ramesh decides to purchase twice the
number of pens that he was planning to buy
earlier. What is the percentage change in his
expenditure copmared to his orginally

planned expenditure?

,d isu dh dher 40» de gks tkrh gSA blfy,]
jes'k us igys ftruh la[;k esa isu •jhnus dh ;kstuk
cukbZ Fkh] mlls nksxquh la[;k esa isu •jhnus dk
iQSlyk fd;kA mlds O;; ds çfr'kr esa fdruk
ifjorZu gksxk\ D;k ;g mlds ewy :i ls fu;ksftr
O;; ds vuq:i gS\
(a) No change (b) 33.33%

(c) 25% (d) 20%

LEVEL 2

20. If 
1

37 %
2

 of a number is added with itsle then

result becomes 1320. Find the original

number.

;fn ,d la[;k dk 
1

37 %
2

] blh la[;k esa tksM+us

ij ifj.kke 1320 izkIr gksrk gS rc ewy la[;k Kkr
djksA

(a) 950 (b) 980

(c) 940 (d) 960

21. If 20% increase in twice of numerator and

30% decrease in thrice of denominator of a

fraction, then the new fraction becomes 24%

of 
16

21
. Find original fraction.

,d fHkUu ds va'k ds nksxqus dks 20» ls vfèkd dj
fn;k tkr rFkk gj ds rhu xqus dk 30» ls de dj

fn;k tk, rks u;k fHkUu] 
16

21
 dk 24» izkIr gksrk gS

rks ewy fHkUu crkb,\

(a)
25

4
(b)

2

25

(c)
25

2
(d)

4

25



©TheCoreIAS www.thecoreias.com 

7

22. A man multiplied a number by 
3

5
 instead of

5

3
. what is the % error in the calculation?

,d vkneh us ,d la[;k dks 
5

3
 ds LFkku ij 

3

5
 ls

xq.kk dj fn;kA rc x.kuk esa izfr'kr =kqfV Kkr djks\

(a) 66% (decrease)

(b) 64% (decrease)

(c) 64% (increase)

(d) 66% (increase)

23. Hansu wanted to subtract 5 from a number,

Unfortunately, he added 5 instead of

subtracting, Find the percentage change in

the result.

gluq ,d la[;k esa ls 5 ?kVkuk pkgrk FkkA ijUrq
nqHkkZX;o'k mlus ml la[;k esa 5 tksM+ fn;kA Kkr
dhft, ifj.kke esa fdrus » dk ifjorZu gqvk\
(a) 300%

(b) 66.66%

(c) 50%

(d) Cannot be determined

24. Price of banana is increased by 
1

33 %
3

 and

its consumption is decreased by 
2

16 %
3

. Find

effect on expenditure.

dsys dh dher esa 
1

33 %
3

dh o`f¼ rFkk [kir esa

2
16 %

3
dh deh dh xbZA dqy [kpZ ij D;k izHkko

iM+k\

(a)
1

11 %
9

increase

(b)
1

11 %
9

decrease

(c) 20% decrease

(d) 10% increase

25. The salary of a worker was first increased by

2
6 %

3
 and there after, decreased by 

1
7 %

2
.

What was the change in his total salary?

,d etnwj dh vk; igys 
2

6 %
3

 c<+k nh tkrh gS]

rFkk mlds ckn vk; mldh esa 
1

7 %
2

 ls deh dj

nh tkrh gS rks mldh vk; esa izfr'kr ifjorZu gqvkA

(a)
1

1 %
3

 decrease

(b)
2

1 %
3

 increase

(c)
2

1 %
3

 decrease

(d)
1

1 %
3

 increase

26. Price of rice is reduced by 20%. How much
kg of rice a man will purchase so that the
expenditure is unchanged. If he intially

purchase 160 kg of rice.

pkog dh dher esa 20» dh deh gksus ij ,d
O;fDr  fdrus fdxzk- pkoy [kjhnsxk rkfd [kpZ
leku gksA ;fn og 'kq:vkr esa 160 fdxzk- pkoy
[kjhnrk FkkA
(a) 200 kg (b) 180 kg

(c) 192 kg (d) None of these.

27. If height of a triangle is increased by 40%.
Then what can be the maximum percentage
increase in length of the base so that the

increase in area is restricted to a maximum
of 60%?

;fn ,d f=kHkqt dh Å¡pkbZ dks 40» ls c<+k fn;k
tk, rks ml f=kHkqt ds vkèkkj dks vfèkdre fdruk
c<+k;k tk, ftlls mldk {ks=kiQy T;knk ls T;knk
60» c<+s\
(a) 50% (b) 20%

(c) 14.28% (d) 25%
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28. In a city, there are 1000 males and 300
females. If population of males and females
are increased by 20% and 10% respectively,
what will be effect on total population.

,d 'kgj esa 1000 iq:"k vkSj 300 efgyk,a gSaA ;fn
iq:"kksa dh tula[;k dks 20» rFkk efgykvksa dh
tula[;k dks 10» c<+k fn;k tk, rks dqy tula[;k
ij D;k izHkko iM+sxk\
(a) 17.7% decrease

(b) 17.7% increase

(c) 16% decrease

(d) 16% increase

29. In a town number of males and females are
800 and 600 respectively. Population of males
increase by 30%, then total population

increase by 24%. Find the effect on the

population of females.

,d 'kgj esa 800 iq:"k vkSj 600 efgyk,a gSA iq:"kksa
dh tula[;k esa 30» dh òf¼ gks tkrh gS ftlls dqy
tula[;k esa 24» dh o`f¼ gks tkrh gS efgykvksa dh
tula[;k ij D;k izHkko iM+k\
(a) 16% decrease

(b) 16% increase

(c) 18% decrease

(d) 18% increase

30. In a 200 grams mixture of water, spirit and

alcohol the quantity of water, spirit and

alcohol are 20%, 30% and 50% respectively.

If 20 gm alcohol is added to the mixture and

the quantity of water be doubled in the

mixture then find their respective ration of

their quantities in the mixture.

ty. fLifjV rFkk ,Ydksgy okys 200 xzke feJ.k esa
ty] fLifjV rFkk ,Ydksgv Øe'k% 20»] 30» vkSj
50» gSA ;fn feJ.k esa 20 xzke ,Ydksgy feyk nh
tk, rFkk ty dh ek=kk nksxquh dj nh tk,] rc
feJ.k esa mudk laxr vuqikr Kkr djks\

(a) 4 : 3 : 6

(b) 2 : 3 : 4

(c) 4 : 4 : 7

(d) None of these

31. Fresh fruits contains 80% water and dry fruits
contain 10% water. How much kg of fresh
fruits needed to obtain 250kg dry fruits.

rktk iQy esa 80» ikuh gS tcfd lw[ks iQy esa 10»
ikuh gSA 250kg lw[kk iQy izkIr djus ds fy, fdrus
fdyksxzke rkts iQy dh t#jr iM+sxh\
(a) 100kg (b) 800kg

(c) 1125kg (d) 1200kg

32. Sameer spends 40% of his monthly income

on food and 
1

3
of the rest amount on cloth.

Rest Rs. 600 is his saving which is 
2

66 %
3

 of

the total amount spend on food and cloth. Find

his monthly income?

lehj viuh ekfld vk; dk 40» Hkkstu ij rFkk
'ks"k jkf'k dk ,d&frgkbZ diM+ksa ij [kpZ djrk gSA
og 'ks"k 600 #- cpkrk gS tks mldh Hkkstu vkSj

diM+ksa ij fd, x, [kpZ dk 
2

66 %
3

 gSA mldh

ekfld vk; D;k Fkh\

(a) Rs. 2000

(b) Rs. 2250

(c) Rs. 1800

(d) Rs. 1300

33. In a hotel, 60% People had vegetarian lunch

while 30% People had non-vegetarian lunch

and 15% had both types of lunch. If 96 people

were present then how many did not eat

either type of lunch?

,d gksVy esa] 60» yksxksa ds ikl 'kkdkgkjh Hkkstu
tcfd 30» yksxksa ds ikl ekalkgkjh Hkkstu Fkk rFkk
15» yksxksa ds ikl nksuksa izdkj dk Hkkstu FkkA ;fn
gksVy esa dqy 96 yksx mifLFkr Fks rks fdrus yksxksa us
,d Hkh rjg dk Hkkstu ugha [kk;k\

(a) 20

(b) 24

(c) 80

(d) 25
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34. In an exam 
1

20
th part of the students

attempted all 5 question while 
1

20
th part of

the students did not attempt any question.

1

4
th part of the remaining attempted only

four questions while  
1

5
th part students

attempted only one question. If
1

24
2

% of the

total students attempted three questions and
200 students attemptted only two questions.
Find total no. of students.

,d ijh{kk esa 
1

20
Hkkx Nk=kksa us lHkh ik¡p iz'uksa ds

mÙkj fn,] tcfd 
1

20
Hkkx Nk=kksa us fdlh Hkh iz'u

dk mÙkj ugha fn;k A 'ks"k Nk=kksa ds 
1

4
 Hkkx Nk=kksa us

dsoy pkj iz'uksa ds mÙkj fn, tcfd 
1

5
Hkkx Nk=kksa

us dsoy ,d iz'u dk mÙkj fn;kA ;fn dqy Nk=kksa esa

ls 
1

24
2

% Nk=kksa us dsoy rhu iz'uksa ds mÙkj fn,

rFkk 200 Nk=kksa us dsoy nks iz'uksa ds mÙkj fn,A Nk=kksa
dh dqy la[;k Kkr djks\

(a) 1200

(b) 400

(c) 800

(d) 1600

35. In an election only two candidates contested

20% of the voters did not cast their vote

while 120 votes were declared as invalid. The

winner got 200 votes of the total voters on

the voter list. Percentage of votes of the

defeated candidate out of the total votes

casted is:

,d pquko esa nks mEehnokjksa us Hkkx fy;kA 20»
ernkrkvksa us oksV ugha fn;s tcfd 120 oksV dks
vosèk ?kksf"kr dj fn;k x;kA thrus okys O;fDr us 200
oksV ls nwljs dks gjk;k rFkk dqy ernkrk lwph dk
41» oksV izkIr fd;k rks crkvks gkjus okys O;fDr us
dqy Mkys x;s erksa dk fdrus » oksV izkIr fd;k\
(a) 47.5% (b) 41%

(c) 38% (d) 45%

36. The ration of Sachin's salary for October to his
salary for November was 1.5 : 1.333 and the

ratio of the salary for November to that for
DEcember was 2:2.666. Sachin got 40 rupees
more for December than for october and
received a bonus consisting 40% percent of
the salary for three months. Find the total bonus

of three month. (Assume that the number of

workdays is the same in every month.)

lfpu dk vDVwcj rFkk uoEcj ds osru dk vuqikr
1-5%1-333 gS rFkk uoEcj ,oa fnlEcj ds osru dk
vuqikr 2%2-666 gSA lfpu vDVwcj esa izkIr #- ls
fnlacj esa #- 40 T;knk izkIr djrk gS rhuksa eghuksa ds
osru dk 40» cksul ds :i esa feyrk gSA rc rhuksa
eghuksa dk dqy cksul Kkr djks\

(dke djus ds fnuksa dh la[;k izR;sd eghus esa
cjkcj gSA)
(a) 368.888 rupees

(b) 152.5555 rupees

(c) 222.22 rupees

(d) 265.6 rupees

37. In an examination, Raju got 12 out of the first 16
questions correctly. Out of the remaining
questions he got only 25% of the questions

correctly. All the questions have equal marks and
he got 50% makrs in all. What is the total number
of questions, if there is no negative marking?

,d ijh{kk esa]jktw us igys 16 ç'uksa esa ls 12 ds mÙkj
lgh fn;sA 'ks"k ç'uksa esa ls mls dsoy 25» ç'u gh
lgh feysA lHkh ç'uksa ds vad leku gSa vkSj mls dqy
feykdj 50» vad çkIr gq, gSaA ;fn dksbZ udkjkRed
vadu ugha gS] rks ç'uksa dh dqy la[;k D;k gS\
(a) 32 (b) 28

(c) 50 (d) 36
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(a) Veer has 40% more letters than that of Zara

(b) Zara has 20% less letters than that of Veer

(c) Veer and Zara have equal no. of letters

(d) Zara has 37.5% less letters than that of Veer.

41. A reduction of 20% in the price of an bananas

enables a man to buy 10 bananas more for Rs
54. The reduced price of bananas per doen is?

dsys dh dher esa 20» dh deh gksus ij 54 #- esa
10 dsys vfèkd [kjhns tk ldrs gSaA dsys dh ?kVh gqbZ
izfr ntzu dher Kkr djks\
(a) 12.96 (b) 14

(c) 12.8 (d) 13.2

42. In a village 2/3rd are males and rest are
females. 80% of males and 70% of females

are literate. 40% of literate males and 30%
of literate female are graduates. 20% of
graduate males are in a govermment job and

25% of graduate females are in a government
job. The no. of males and females in

government service is what % of total
population of the village.:

,d xk¡ esa dqy tula[;k dk 2@3 Hkkx iq#"k rFkk 'ks"k
efgyk,¡ gSaA 80» iq#"k rFkk 70» efgyk,a] f'kf{kr gSaA
40» f'kf{kr iq#"k rFkk 30» f'kf{kr efgyk,¡ Lukrd
gSA 20» Lukrd iq#"k rFkk 25» Lukrd efgyk,¡
ljdkjh ukSdjh esa gSaA rc xk¡o dh dqy tula[;k esa
ljdkjh ukSdjh okys iq#"kksa vkSj efgykvksa dh la[;k
dk izfr'kr Kkr djks\
(a) 5.8% (b) 6.01%

(c) 5.09% (d) 6.20%

43. A mixture of 200kg alloy of copper and zinc

contains 60% copper. Some amount of zinc

is extracted from alloy, then percentage of

zinc becomes 20%. How much kg of zinc is

extracted from alloy.

200 fdyks dkWij vkSj ftad ds feJ.k esa dkWij dh
ek=kk 60» gSA dqN ek=kk esa ftad fudky fy;k tkrk
gSA ftlls u;s feJ.k esa ftad dk izfr'kr 20» gks
tkrk gS rks crkb, fdrus fdyks ftad fudkyk x;k\

(a) 80kg (b) 120kg

(c) 50kg (d) None of these

38. Rishi gets a commission of 6% on sales up
to Rs. 5,000 and 5% on all sales exceeding
Rs. 5,000. If Rishi has collected Rs. 15,150
for his company after deducting his
commission, what is his commission amount?

½f"k dks #- 5]000 rd dh fcØh ij 6» rd dk
deh'ku feyrk gS] vkSj 5]000 #i;s ls vf/d dh
lHkh fcØh ij 5» deh'ku feyrk gSA ;fn ½f"k us
mldk deh'ku dkVus ds ckn daiuh ds fy;s #-
15]150 çkIr fd;s] rks mldh deh'ku jkf'k D;k gS\
(a) Rs. 950 (b) Rs. 780

(c) Rs. 980 (d) Rs. 850

LEVEL 3
39. Price of Apples is reduced from Rs. 5/kg to

Rs. 4/kg, then expenditure increases by

1
33 %

3
. Find percentage change in

consumption.

lsc dh dher 5 #- izfr fdxzk- ?kVdj 4 #- izfr

fdxzk gks xbZ rFkk [kpZ Hkh 
1

33 %
3

 c<+ x;kA [kir

esa fdrus izfr'kr ifjorZu gqvk\
(a) 50% decrease (b) 80% Increase

(c)
2

66 %
3

 Increase (d) None of these.

40. Initially Veer had 60% more love letters than

that of Zara. in the last month the no. of love

letters of Veer increased by 25% and that of

Zara decreased by 25%. Again in the present

month the no. of Love letters of Veer

decreased to 60% and that of Zara increased

by 60%. Then which of the following

statements is correct regarding the present

no. of love letters:

'kq:vkr esa ohj ds ikl tkjk ls 60» vfèkd izse i=k
Fks fiNys eghus ohj us vius i=k 25» ls c<+k fn;s
rFkk tkjk us vius i=kksa dks 25» ls de dj fn;kA
nksckjk orZeku eghus esa ohj us vius i=kksa dks ?kVkdj
60» dj fn;kA ysfdu tkjk us vius i=kksa dks 60»
ls c<+k fn;kA orZeku izse i=kksa dh la[;k ds vkèkkj
ij dkSu&lk dFku lgh gSA
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44. The ration of expenditure and saving of a
person's income is 4 : 5. He spends the amount
on  food, cloth and education in the ration of 3
: 2 : 3 respectively. He deposit the saving
amount in bank and post office in the ration of

12 : 13 respectively. If the expenditure on
food, cloth and education is increased by 20%,
40% and 50% respectively. What percent
should he increase his income so that the
saving amount could be less than 5%?

,d vkneh viuh vk; dks 4 % 5 ds vuqikr esa
Øe'k% [kpZ rFkk cpr djrk gSA [kpZ dh tkusokyh
jkf'k dks og 3 % 2 % 3 ds vuqikr esa Øe'k% Hkkstu]
oL=k rFkk f'k{kk ij [kpZ djrk gSA cpr dh jkf'k
dks 12 % 13 ds vuqikr esa Øe'k% cSad esa rFkk iksLV
vkWfiQl esa tek djrk gSA ;fn Hkkstu] oL=k rFkk
f'k{kk ij fd, x, [kpksZ dks 20»] 40» rFkk 50»
ls c<+kus dh vko';drk eglwl dh x;h gks] rks mls
viuh vk; fdrus izfr'kr ls c<+kuk pkfg, rkfd og
cpr dh jkf'k dks 5» ls de dj lds\

(a)
1

12 %
2

(b)
1

13 %
3

(c)
2

16 %
3

(d)
1

11 %
4

45. Income  of a person in increased by Rs. 20000
and tax rate decreased from 20% to 15%, if
30% of his income is tax free and he pay equal

tax in both cases. Find his initial income.

,d O;fDr dh vk; 20000 #i;s  ls c<+ tkrh gS
vkSj mldh vk;dj dh nj 20» ls ?kVdj 15» gks
tkrh gS ;fn 30» vk; dj izQh gks rks og nksuksa
fLFkfr;ksa esa cjkcj vk;dj vnk djrk gS mldh
vkjafHkd vk; Kkr djsaA
(a) Rs. 60000

(b) Rs. 80000

(c) Rs. 72000

(d) None of these

46. 600 students took the test on physics and
chemistry. 35% students failed in physics and
45% students failed in chemistry and 40% of
those who passed in chemistry also passed in
physics, then how many students failed in both:

600 fo|kFkhZ HkkSfrd rFkk jlk;u foKku ds ,d
VsLV ds fy, pqus tkrs gSa] 35» fo|kFkhZ HkkSfrd
foKku esa isQy gks tkrs gSa vkSj 45» fo|kFkhZ jlk;u
foKku esa isQy gks tkrs gSa] 40» fo|kFkhZ nksuksa esa ikl
gks tkrs gSa rc nksuksa esa isQy gq, fo|kFkhZ;ksa dh la[;k
Kkr dhft,\
(a) 162 (b) 138

(c) 60 (d) 120

47. To pass an examination minimum 40%
marks are required. A got 10% less marks

than passing marks, B got 
1

11 %
9

less marks

than A. The marks of C is  
3

41 %
17

 less than

marks of A and B together. Find the

percentage marks of C.

,d ijh{kk esa ikl gksus ds fy, de ls de 40» vad
ykuk vfuok;Z gSA A dks mÙkh.kk±d vad ls 10» de

vad izkIr gksrs gSaA B, A ls 
1

11 %
9

de vad izkIr

djrk gSA C, A vkSj B ds dqy vadksa ls 
3

41 %
17

de vad izkIr djrk gSA rks crkb, C dks fdruk »
vad izkIr gqvk\
(a) 32% (b) 36%

(c) 40% (d) None of these

48. The ratio of boys and girls participated in an
examination is 3 : 2 and ration of girls and
boys passed in the examination is 4 : 3. If
80% girls of total girls passed in examination,
then find.

,d ijh{kk esa lfEefyr gksus okys yM+ds vkSj yM+fd;ksa
dh la[;k dk vuqikr 3 % 2 gSA ijh{kk esa ikl gksus
okyh  yM+fd;ksa vkSj yM+dksa dh la[;k dk vuqikr 4
% 3 gSA ;fn dqy yM+fd;ksa vkSj yM+dksa dh ijh{kk esa
ikl gks xbZ gS rks crkb,A
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(i) How much percent of boys passed?

fdrus » yM+ds ikl gks x,\
(a) 40% (b) 60%

(c) 35% (d) 45%

(ii)How much percent total students passed?

fdrus » dqy fo|kFkhZ ikl gq,\
(a) 46% (b) 74%

(c) 60% (d) 56%

49. In an election, there were only two candidates
A and B. 19% of the total votes were found

invalid. Candidate A got 
1

33 %
3

 of the total

valid votes and lost the election by 16200
votes. Total number of votes polled in the

election was?

,d pquko esa A rFkk B nks mEehnokj [kM+s FksA dqy
erksa dk 19» er voSèk ik, x,A mEehnokj A dks

dqy oSèk erksa dk 
1

33 %
3

 er izkIr gqvk vkSj og

16200 erksa ls pquko gkj x;kA pquko esa dqy fdrus
er Mkys x, FksA
(a) 80000 (b) 64000

(c) 72000 (d) 60000

50. A computer typist types a page with 20 lines in

10 minutes but he leaves 8% margin on the left

side of the page. Now he has to type 23 pages

with 40 lines on each page in which he leaves

25% more margin than before. How much time

is now required to type these 23 pages.

,d daI;wVj VkbfiLV 20 ykbu okys ist dks 10 feuV
esa Vkbi djrk gS ysfdu og ist ds cka;h vksj 8»
txg NksM+ nsrk gSA vc mls 23 ist Vkbi djus gsa]
izR;sd ist esa 40 ykbu gS rFkk igys dh vis{kk esa mls
25» vfèkd txg NksM+uh gSA bu 23 istksa dks Vkbi
djus esa VkbfiLV }kjk fy;k x;k le; Kkr djks\

(a)
1

7
2
hrs (b)

2
7

3
hrs

(c)
1

23
2
hrs (d) 3.916 hrs

51. Aruju spends 15% of his annual income on
food, 18% on housing rent, 12% on
conveyance and one-hird of all of the above
expenses on household articles. He has no
other expense. His savings at the end of the

year are Rs. 13,040. What is his annual
income?

vtZqu viuh okf"kZd vk; dk 15» Hkkstu ij] 18»
vkokl fdjk, ij] 12» okgu ij vkSj mijksÙkQ lHkh
•pks± dk ,d frgkbZ ?kjsyw oLrqvksa ij •pZ djrk gSA
mldk dksbZ vU; •pkZ ugha gSA o"kZ ds var esa mldh
cpr #- 13]040 gS] rks mldh okf"kZd vk; D;k gS\
(a) Rs. 32,800

(b) Rs. 33,600

(c) Rs. 32,600

(d) Rs. 31,900

52. A students needs to score 35% marks to

clear a test of 120 marks. By how many marks

does he pass/fail if he scores 40 marks in this

test?

,d Nk=k dks 120 vadksa dh ijh{kk mÙkh.kZ djus ds
fy, 35» vad çkIr djus dh vko';drk gksrh gSA
;fn og bl ijh{kk esa 40 vad çkIr djrk gS rks og
fdrus vadksa ls mÙkh.kZ@vuqÙkh.kZ gksxk\

(a) He fails by 1 mark.

(b) He passes by 2 marks.

(c) He just passes.

(d) He fails by 2 marks.

53. Students in a class appeared for a Science

and Maths test. 80% students passed in

Science and 60% passed in Maths while 15%

failed in both. If the total number of students

who passed in both is 220, how many students

are there in the class?

,d d{kk esa Nk=k foKku vkSj xf.kr dh ijh{kk ds
fy, mifLFkr gq,A 80» Nk=k foKku esa vkSj 60»
xf.kr esa mÙkh.kZ gq, tcfd 15» nksuksa esa vliQy jgsA
;fn nksuksa esa mÙkh.kZ Nk=kksa dh dqy la[;k 220 gS] rks
d{kk esa fdrus Nk=k gSa\

(a) 100 (b) 200

(c) 400 (d) 800
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58. Aaj Tak is a very popular TV channel. It

telecasts the programmes from 8:00 a.m. to

12:00 a.m. (midnight). It telecasts 60

advertisements each of 8 seconds and 16

advertisements each of 30 seconds. What is

the percentage of time devoted in a day for

the advertisments?

vkt rd ,d yksd fiz; pSuy gSA ;g lqcg 8%00
cts ls 12%00 cts vèkZjkf=k rd izksxzke izlkfjr djrk
gS] ftlesa 8 lsds.M okys 60 foKkiu rFkk 30
lsds.M okys 16 foKkiu izlkfjr djrk gSA rc ,d
fnu esa foKkiuksa }kjk fy, x, le; dk izfr'kr Kkr
djks\

(a) 1.5%

(b) 1.66%

(c) 2%

(d) 2.5%

59. A monkey cover 62.5% of hight of a pole in
one hour. In the next hour it climbs 12.5% of

the remaining height. If height of pole is 192
meter. Then find the distance travelled in
second hour.

,d canj ,d ?kaVs esa ,d [kEHks ij 62-5» ÅipkbZ
rd p<+rk gSA vxys ?kaVs esa og [kEHks ds cps gq, Hkkx
dk 12-5» p<+rk gSA vxj [kEHks dh Å¡pkbZ 192
ehVj gS rks nwljs ?kaVs esa r; dh xbZ nwjh crk,¡A
(a) 18 meter

(b) 36 meter

(c) 9 meter

(d) 3 meter

60. A batsman scored 210 runs which included
13 fours and 9 six. What percent of his fours
of total score?

,d cYysckt us 210 ju cuk, ftlesa 13 pkSds vkSj
9 Ndds 'kkfey gSaA pkSds ds }kjk cuk;k Ldksj dqy
fdruk » gS\

(a)
15

24 %
21

(b)
16

24 %
21

(c)
11

24 %
21

(d)
4

24 %
21

54. In a certain group, 80% of the people are
male and 35% of the total group members
are married. If three-eighth of the males are
married, what fraction of females is single?

,d fuf'pr lewg esa] 80» yksx iq#"k gSa vkSj lewg
ds dqy lnL;ksa esa ls 35» fookfgr gSaA ;fn iq#"kksa dk
rhu&vkBoka Hkkx fookfgr gS] efgykvksa dk fdruk
fgLlk vfookfgr gS\
(a) 2/3 (b) 3/4

(c) 1/3 (d) 1/4

LEVEL 4

55. If x% of y is 100 and y% of z is 200, then
relation between x and z is:

;fn y dk x%, 100 gS rFkk z dk y%, 200 gSA rks
x rFkk z ds chp lacaèk gS\

(a)
2

x
z  (b) z=2x

(c)
2

x
z  (d) z=4x

56. If y% of x is equal to p then what percent of p
is y.

;fn x dk y% p gS rks p dk fdruk izfr'kr y gksxk\

(a)
 

2
100

y
(b)

 
2

100

x

(c) 100/z (d) 100/x

57. A number is divide into two parts in such a

way that 80% of 1st part is 3 more than 60%

of 2nd part and 80% of 2nd part is 6 more

than 90% of the 1st part. Then the number

is:

,d la[;k dks nks Hkkxksa esa bl izdkj ckaVk tkrk gS
fd igys Hkkx dk 80»] nwljs Hkkx ds 60» ls 3
vfèkd gS] vkSj nwljs Hkkx dk 80» igys Hkkx ds
90» ls 6 vfèkd gS] rks la[;k D;k gS\

(a) 125 (b) 130

(c) 135 (d) 145
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61. Price of Carrot increases from Rs. 4/kg to
Rs. 5/kg. A person initially purchases 60kg
Carrot. Now, expenditure increases by

1
33 %

3
. Then how much kg carrot can be

purchase now?

xktj dh dher 4 #- izfr fdxzk- ls c<+dj 5 #-
izfr fdxzk- gks tkrk gSA ,d vkneh igys 60 fdxzk-

xktj [kjhnrk FkkA vc vxj [kpZ 
1

33 %
3

c<+ tk,

rks og fdrus fdxzk- vc xktj [kjhnsxk\
(a) 128 kg (b) 80 kg

(c) 64 kg (d) None of these

62. Due to a decrement of 20% in the price of

mangoes, a man is now able to buy 10

mangoes more for Rs. 5. Find the current an

initial number of the mangoes bought in 1

rupees:

vkeksa dks dher esa 20» dh deh gksus ls ,d vkneh
5 #- esa 10 vke vfèkd [kjhn ldrk gS rc 1 #-
esa vc rFkk igys [kjhns x, vkeksa dh la[;k Kkr
djks\
(a) 10, 8 (b) 10, 6

(c) 8, 6 (d) 10, 10

63. The population of a village is 30,000 om

which 
1

6
th are feamles and the rest are

males, 5% males and 40% of  females are

uneducated. What percentage of the whole
village are educated?

,d xk¡ dh tula[;k 30]000 gSA ftlesa 
1

6
 Hkkx L=kh

rfkk 'ks"k iq#"k gS ;fn 5 izfr'kr iq#"k rFkk 40
izfr'kr fL=k;k¡ vf'kf{kr gS] rc xk¡o esa fdrus izfr'kr
yksx f'kf{kr gs\

(a) 90% (b)
1

89 %
6

(c) 76% (d)
1

90 %
6

64. A 30 kg solution of salt and water contains
2% salt. How many kg of pure salt should be
added to increase the quantity of salt in
solution to 10%

30 fdxzk- ds ued rFkk ikuh ds ?kksy esa 2» ued
gSaA blesa fdrus fdxzk- 'kq¼ ued feyk;k tk, fd
u, ?kksy esa ued dh ek=kk c<+dj 10» gks tk,\

(a)
2

2
3

kg

(b)
1

2
3

kg

(c) 2 kg

(d)
1

3
3

kg

65. Kanchan gave 40 percent of the amount he

had, to jayant. jayant gave one-fourth of waht

he received from Kanchan to Prakash. After

paying Rs 200 to the taxi driver out of the

amount he got from jayant, Prakash now has

Rs 600 left with his. How much amount did

Kanchan have?

dapu vius ikl tek jkf'k dk 40» t;Ur dks nsrh
gSA t;Ur dapu ls izkIr jkf'k dk 1@4 Hkkx izdk'k
dks nsrk gSA t;Ur ls izkIr jkf'k esa ls 200#- dkj
pkyd dks nsus ds ckn izdk'k ds ikl 600 #-
cprk gSA dapu ds ikl fdrus #- Fks\

(a) 1200

(b) 4000

(c) 8000

(d) data inadequate

66. Rajpal spends 40% on purchasing a machine

and 20% on purchasing furniture. His

expenditure on wages is ras. 4000 and rest

amount spends on building construction. If

the amount spent on wages is 
2

16 %
3

of the

total amount spent on purchasing machine
and furniture. Then find the amount spent on
building construction.
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jktiky 40» jkf'k e'khu [kjhnus ij rFkk 20»
iQuhZpj [kjhnus esa [kpZ djrk gSA og 4000 #-
etnwjh ij rFkk 'ks"k jkf'k Hkou fuekZ.k ij [kpZ
djrk gSA ;fn etnwjh ij [kpZ dh x;h jkf'k e'khu

rFkk iQuhZpj ij [kpZ dh x;h jkf'k dk 
2

16 %
3

gks

rks mlus Hkou fuekZ.k ij fdrus #i;s [kpZ fd;k\
(a) Rs. 20000 (b) Rs. 8000

(c) Rs. 12000 (d) Rs. 16000

67. A salesman got 12% commission of his total
sale. he got 3% bonus for selling above Rs.

10,000. If he sold the products for Rs. 25000,
find his total commission.

,d lsYleSu dk deh'ku dqy fcØh dh xbZ jkf'k dk
12» gSA 10]000 #- ls vfèkd fcØh djus ij 3»
cksul feyrk gSA ;fn mlus 25000 #- dh fcØh dh
gks rks mldk dqy deh'ku crkb,\
(a) 3400 (b) 3450

(c) 3500 (d) 3600

68. In a city, 42% people like tea and 47% people
like coffe and 15% people like both. If 780
people like neither tea nor coffee then find
total population of city and how many people
like only tea.

,d 'kg esa 42» O;fDr pk; ihuk ilan djrs gSa vkSj
47» dkWiQh ihuk ilan djrs gSa rFkk 15» nksuksa ihuk
ilan djrs gSaA ;fn 780 O;fDr uk rks pk; vkSj uk
gh dkWiQh ihuk ilan djrs gSa rks 'kgj dh dqy
tula[;k crkb, vkSj fliQZ  pk; ihus okys fdrus
yksx gSa\
(a) 5000, 900 (b) 3000, 810

(c) 2000, 800 (d) 25000, 810

69. In an examination the percentage of students
qualified to the number of stuents appeared
from school 'A' is 65% in school 'B' the
number of students appeared is 25% more
than the students appeared from school 'A'
and the number of students qualified from 'B'
is 40% more than the students qualified from
school 'A'. What is the percentage of students
qualified to the number of students appeared
from school 'B' is

,d ijh{kk esa] Ldwy A ls ikl gq, fo|kfFkZ;ksa dk
izfr'kr bl Ldwy esa 'kkfey gq, fo|kfFkZ;ksa dk 65»
gSA Ldwy B esa 'kkfey gq, fo|kfFkZ;ksa dh la[;k Ldwy
A esa 'kkfey gq, fo|kfFkZ;ksa ls 25» vfèkd gSA Ldwy
B ls ikl gq, fo|kfFkZ;ksa dh la[;k Ldwy A ls ikl
gq, fo|kfFkZ;ksa ls 40» vfèkd gSA Ldwy B esa 'kkfey
gq, fo|kfFkZ;ksa dk fdruk izfr'kr fo|kFkhZ ikl gq,\
(a) 70.8%

(b) 78.2%

(c) 72.8%

(d) 73%

70. In an examination, there were total three

question papers, whose full marks of each
was 120. Ramesh, who was a student, got 60%
and 70% marks in paper 1st and 2nd
respectively. If he got 75% makrs in all the

three papers then what percent marks did
he get in paper 3rd?

fdlh ijh{kk esa rhu iz'u i=k Fks ftlesa ls izR;sd iz'u
dk iw.kk±d 120 FkkA jes'k tks ,d ijh{kkFkhZ Fkk] us
izFke rFkk f}rh; iz'u i=k esa Øe'k% 60» rFkk 70»
vad izkIr fd,A ;fn mlus rhuksa iz'u i=kksa esa 75»
vad izkIr fd, gks] rks rhljs iz'u&i=k esa mlus fdrus
izfr'kr vad izkIr fd,\

(a) 95%

(b) 92%

(c) 90%

(d) 80%

71. Two candidate participated in an election.

10% voter did not cast their votes, 200 votes

were declared invalid, and winner candidate

got 70% of total votes in voter list.

,d pquko esa nks izR;k'kh [kM+s FksA 10» ernkrkvksa us
vius er dk iz;ksx ugha fd;kA 200 er blesa ls
voSèk ?kksf"kr dj fn, x, rFkk thrus okys izR;k'kh
dks ernkrk lwph dk 70» izkIr gksrk gSA vkSj og
35000 oksV ls thr tkrk gSA rks crkb, ernkrk lwph
esa fdrus yksxksa dk uke Fkk\

(a) 69600 (b) 70000

(c) 65800 (d) 67800
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72. A book consists of 30 pages, 25 lines on each

page and 35 characters in each line. If this

content is written in another note book

consisting of 30 lines and 28 characters per

line, then the required no. of pages will how

much percent more than the previous pages?

30 ist dh ,d fdrkc gS] izR;sd ist esa 25 ykbZu
gS vkSj izR;sd ykbZu esa 35 v{kj gSaA vxj ;g fo"k;
nwljh fdrkc ij mrkjk tk, ftlds izR;sd ist ij
30 ykbzus gSa vkSj izR;sd ykbZu esa 28 v{kj gSaA rks
vko';d ist igyh fdrkc ds istksa ls fdruk
izfr'kr vfèkd gS\

(a) 4.16%

(b) 5%

(c) 6.66%

(d) None of these

73. A group takes a test of 100 marks, in which

the passing percentage is 40 marks. 15% of

the students score atmost 30 marks and 22%

of the students score atmost 40 marks. Half

the students score between 40 and 70 marks.

How many students score more than 70

marks, if 35 students have got grace marks?

Students scoring between 30 and 40 marks

get grace marks?

,d lewg 100 vadksa dh ijh{kk nsrk gS] ftlesa mÙkh.kZ
çfr'kr 40 vad gksrk gSA 15» Nk=k vf/dre 30
vad çkIr djrs gSa vkSj 22» Nk=k vf/dre 40 vad
çkIr djrs gSaA vk/s Nk=k 40 ls 70 vad ds chp vad
çkIr djrs gSaA ;fn 35 Nk=kksa dks vuqxzg vad feys gSa]
rks fdrus Nk=kksa us 70 ls vf/d vad çkIr fd, gSa\
30 ls 40 vad ds chp Ldksj djus okys fdrus Nk=kksa
dks vuqxzg vad feys gSa\

(a) 90 (b) 75

(c) 140 (d) 125

74. In an exam, Ashish scored 35 marks less than

Rai, whos scored 55 more than Mohita. Rohit

scored 75 marks, which was 10 more than

Mohita's marks. Rajan scored 71 marks less

than the maximum marks in the  test. What

percentage marks did Rajan get in the exam,

if he got 44 marks more than Ashish?

,d ijh{kk esa]vk'kh"k us jk; ls 35 vad de çkIr
fd;s] ftlus eksfgrk ls 55 vad vf/d çkIr fd;sA
jksfgr us 75 vad çkIr fd;s] tks eksfgrk ds vadksa ls
10 vf/d FksA jktu us ijh{kk esa vf/dre vad ls
71 vad de çkIr fd;sA jktu dks ijh{kk esa fdrus
çfr'kr vad feys] ;fn mls vk'kh"k ls 44 vad
vfèkd feys\
(a) 62.5% (b) 63.5%

(c) 64.5% (d) 66.5%

LEVEL 5

75. A family's consumption of pulse is decreased

due to an increment in the price of pulse by
32% the expenditure increase by only 10%.
If the consumption of pulse is 20 kg before
increment. Find the present consumption of

pulse?

nky ds ewY; esa 32» dh o`f¼ gksus ls ,d ifjokj
us bldh [kir bruh de dj nh fd nky ij [kpZ
esa dsoy 10» o`f¼ gksA ;fn ewY; c<+us ls iwoZ nky
dh [kir 20 fdxzk gksA rks orZeku esa mldh [kir
fdrus fdxzk- Fkh\
(a) 9 (b) 17

(c)
2

16 %
3

(d) 17.5

76. The annual earning of Mr. Sikkawala is Rs. 4

lakhs per annum for the first year of his job

and his expenditure income increases by Rs.

40,000 per annum and the saving was 40%,

30% and 20% of the income. What is the

percentage of his total savings over the total

expenditure if there is no interest is applied

on the savings for these four years:

fl[kokyk dh ukSdjh dh igys lky dh okf"kZd vk;
4 yk[k gS vkSj [kpZ 50» gSA vxys 3 o"kks± ds fy;s
mldh vkSlru vk; 40000 #- okf"kZd c<+rh gS vkSj
mldh cpr mldh vk; dk Øe'k% 40», 30»
vkSj 20» jgrh gSA mldh dqy cpr dqy [kpZ dk
fdruk izfr'kr gksxk ;kfn mldks bu 4 o"kks± esa mldh
cprksa ij dksbZ C;kt ugha feyrkA
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(a)
37

49 %
87

(b)
73

41 %
83

(c) 53 % (d) 51.08 %

77. An M.B.A student got a job in a company on
the condition that he will be paid a salary of

Rs 2700 per month and 
1

6 %
4

 commission

on the total sales made by him. If in a month
he got Rs. 18325 then find the total sales
made by him during that month.

,e-ch-,- ds ,d Nk=k dks ,d daiuh esa ukSdjh bl
'krZ ij nh tkrh gS fd mls #- 2700 izfrekg osru
ds :i esa fn, tk,¡xs vkSj mlds }kjk dh xbZ fcØh

ij 
1

6 %
4

 de'khu fn;k tk,xkA ;fn ,d ekg esa

mls #- 18325 feys gksa] rc ml ekg mlds }kjk dh
xbZ fcØh Kkr djksa\

(a) 2,00,000

(b) 2,50,000

(c) 2,60,000

(d) 2,70,000

78. In a club, 40% people are of more than 30

years and 80% person are of 45 years or less

than 45 years, 20% of total person play

cricket. If 20% more than 45 years old play

cricket, then person of 45 years or less than

45 years old person who play cricket are what

percent of person who play cricket?

,d Dyc esa 40» O;fDr 30 o"kZ ls vfèkd vk;q ds
gSa rfkk 80» O;fDr 45 o"kZ ds cjkcj ;k mlls de
mez ds gSaA lHkh O;fDr;ksa dk 20» O;fDr fØdsV
[ksyrs gSaA ;fn 45 o"kZ ls vfèkd mez okys O;fDr;ksa
esa ls 20» fØdsV [ksyrs gSa rks fØdsV [ksyusokyksa dk
fdrus izfr'kr O;fDr 45 o"kZ ;k mlls de mez ds
gSa\

(a) 80%

(b) 60%

(c) 75%

(d) 81%

79. 12000 students are participated in an

examination in which 
2

5
of students are girls,

60% of total boys were failed and 55% of total
girls were passed, 80% of total passed
students were passed in first division. How
much % of total students passed in first
divison.

,d ijh{kk esa 12000 fo|kFkhZ Hkkx ysrs gSa ftlesa ls

2

5
Hkkx yM+fd;ksa gSaA dqy yM+dksa dk 60» isQy gks

tkrs gSa vkSj dqy yM+fd;ksa dk 55» yM+fd;ksa ikl gks
tkrh gS dqy ikl gksus okys fo|kfFkZ;ksa dk 80» izFke
Js.kh ls ikl gksrs gSaA rks crkb, dqy fo|kFkhZ dk
fdruk » fo|kFkhZ izFke Js.kh ls ikl gq, gS\
(a) 35%

(b) 36.8%

(c) 40%

(d) 38%

80. There are 120 students in a class and the

number of girls is 50% of the number of boys.
All the students can speak only Hindi or only
English or both Hindia and English. Number

of students who speak only Hindi is 40% of
the total number of boys and this number is

20 more than the number of girls who speak
only Hindi. Number of girls who speak only
English is 60% and this number 16 less than
the number of boys who speak only English.

Then find

,d d{kk esa 120 fo|kFkhZ gSaA ftlesa yM+fd;ksa fd
la[;k yM+dksa dh la[;k dk 50» gSA fo|kFkhZ dsoy
fganh ;k dsoy vaxzsth ;k nksuksa Hkk"kk,¡ cksy ldrs gSaA
fo|kFkhZ tks dsoy fganh cksyrs gSa dqy yM+dksa dk
40» gS vkSj ;g la[;k dsoy fganh cksyus okys
yM+fd;ksa ls 20 vfèkd gS 60» yM+fd;k¡ dsoy
vaxzsth cksyrh gSaA vkSj ;g la[;k dsoy vaxzsth cksyus
okys yM+dksa ls 16 de gSaA rks cckb,A

(i) How many girls can speak only Hindi?

fdrus yM+fd;k¡ dsoy fganh cksy ldrh gS\
(a) 12 (b) 16

(c) 20 (d) 24
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(ii) How many students can speak Hindi?

fdrus fo|kFkhZ fganh cksy ldrs gSa\
(a) 30 (b) 40

(c) 48 (d) 56

(iii) How many students can speak only
English?

fdrus fo|kFkhZ dsoy vaxzsth cksy ldrs gSa\
(a) 40 (b) 60

(c) 48 (d) 64

(iv) Number of girls who speak both
languages is what percent of the
number of boys who can speak both the

languages?

nksuksa Hkk"kk cksyus okyh yM+fd;ksa dh la[;k
nksuksa Hkk"kk cksyus okys yM+dksa dk fdruk
izfr'kr gS

(a) 40% (b) 25%

(c) 20% (d) 60%

(v) What percent of student speak only
English?

fdrus izfr'kr fo|kFkhZ dsoy vaxzsth cksyrs
gSa\

(a) 50% (b)
1

53 %
3

(c)
2

66 %
3

(d)
1

45 %
2

81. An examination of 330 marks comprises 3
papers and has a minimum qualifying
percentage of 40% Atul scores 65 out of 120
and 31.25% out of 80 in the first and second
paper respectively. If he just qualifies, what
percentage score has he got in the third paper?

330 vadksa dh ijh{kk esa 3 ç'ui=k gksrs gSa vkSj U;wure
;ksX;rk çfr'kr 40» gSA vrqy dks igys vkSj nwljs
ç'ui=k esa Øe'k% 120 esa ls 65 vkSj 80 esa ls 31-25»
vad feysA ;fn og ek=k vgZrk çkIr djrk gS] rks mls
rhljs ç'ui=k esa fdrus çfr'kr vad feys gSa\
(a) 32 (b) 42

(c) 40 (d) 36

82. In a singles tournament, Paes won 66.67%

of the six qualifying matches to reach the

roun of 32, which is the start of the knockout

stage.  In any knockout match, the winner

would progress to the next round while the

loser would be eliminated. If Paes lost the

final, what was his overall winning percentage

for the tournament?

,dy VwukZesaV esa]isl us Ng DokyhiQkbax eSpksa esa ls

66-67» thrdj 32 jkmaM esa ços'k fd;k] tks

ukWdvkmV pj.k dh 'kq#vkr gSA fdlh Hkh ukWdvkmV

eSp esa fotsrk vxys nkSj esa igqap tk,xk tcfd gkjus

okyk ckgj gks tk,xkA ;fn isl iQkbuy gkj x;k] rks

VwukZesaV ds fy, mldk dqy thr çfr'kr D;k Fkk\

(a) 54.54%

(b) 72.72%

(c) 66.66%

(d) 77.77%

83. A mass recruiting firm has 4200 vacancies.

The firm receives 800 applications every

month of which 12.5% are rejected in that

month during the interview stage. In how

many months does the firm fill all its

vacancies? Assume that no one else leaves

the job in this period and that one person is

selected per vacancy.

,d lkewfgd HkrhZ iQeZ esa 4200 fjfÙkQ;k¡ gSaA iQeZ dks

gj eghus 800 vkosnu çkIr gksrs gSa ftuesa ls 12-5»

ml eghus lk{kkRdkj pj.k ds nkSjku •kfjt dj fn,

tkrs gSaA daiuh viuh lHkh fjfÙkQ;k¡ fdrus eghuksa esa

Hkjrh gS\ eku ysa fd bl vof/ esa dksbZ vkSj ukSdjh

ugha NksM+rk gS vkSj çfr fjfÙkQ ,d O;fÙkQ dk p;u

fd;k tkrk gSA

(a) 3

(b) 6

(c) 9

(d) 12
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